Ruling out the possibility that 
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(1) If 
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when 
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(2) If 
[image: image8.wmf]2

2

()

0

dt

d

q

q

=

the same thing
(3) If 
[image: image9.wmf]2

2

()

0

dt

d

q

q

<

but 
a. the second term is larger than the first term, then 
[image: image10.wmf](

)

0

()

0

dt

dx

d

d

q

q

q

q

éù

´

êú

ëû

>Þ

 there exists a 
[image: image11.wmf]*

q

that minimizes F.
b. the second term is smaller than the first term, then 
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. Then,
i. If 
[image: image13.wmf](

)

0

000

()

{,}{,}

xx

x

dt

dx

dCxCx

d

C

dd

q

q

q

qq

q

qq

éù

´

êú

éù

-

ëûëû

<=-


[image: image14.wmf]2

2

0

dF

d

q

Þ>

 and there still exists a 
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that minimizes F.
ii. If 
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 and increasing. The incentives to under-report are unbounded.
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